Baby Swing Set

ATTENTION

This unit is designed for a maximum of one (1) children
between the ages of zero (0)and three (3)years of age

WARNING! Adult assembly is required

1 Swing Set Safety Instructions

WARNING!

YOUR CHILD'S SAFETY DEPENDS ON YOU!

Observing the following statements and warnings reduces the liklihood of
serious injury.

1. Provide on-site adult supervision for children of all ages at all times
2. It is recommended that the playground equipment be placed in cocrete,
Be certain that all anchoring devices (including cocrete) are placed below
3. Teach children to sit in the centre of the swing play items, with their full
weight in the centre of the seats. NEVER allow children to stand on the
seats. DO NOT allow children to lean to the side when riding on other
rides, structural members or collide with other playmates
4. Dress children appropriately while on and around this equipment. DO
NOT allow chidren to wear ponchos, scarves jewelry, loose shoes,
jackets or clothing with loose strings and/or clothing that might be
potentially hazardous whilst using this equipment
5. DO NOT let children use this equipment in any manner other than
intended
6. DO anchor all play equipment .DO NOT install over concrete, asphalt,
gravel or any other hard surface which may cause injury should a fall
occur
7. DO NOT let children use this equipmint until it has been properly
assembled and anchored. Place equipment on level ground not less than
six (6) feet (1.8m) from any structures or obstacles such as fences,
overhanging branches, laundry or electrical lines, garages, sheds or
houses
8. Instruct children to avoid swinging empty play items . They may strike
other children, or the play equipment may come back and strike you
9. Instruct children not to walk closely in front of, behind or in between
moving play equipment. Instruct children to keep a safe distance away to
avoid being struck by the items in use

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

10.
11.
12.

13.
14.

15

16.

1Z;

18.

19.
20.
21.
22

23.

24.

Instruct children not to twist chains or ropes , or loop them over the
support bar. This adds stress, reduces strength and may result in failure
Instruct children not to get off play equipment whilst in motion. DO NOT
allow children to jump from moving play equipment

DO NOT allow children to climb or play on the eauipment whilst wet (silps
or falls may occur)

Instruct children not to go down the slide head first
Check slide bed for extreme heat before letting children use the slide
(when exposed to direct sunlight)

DO NOT allow children to climb on or swing from structural members (eg
legs, top bar and chin bars). These are structural components ONLY and
NOT play features

DO NOT allow children to swing play equipment more than 60 degress
DO NOT leave hex nuts-tightened after completing assembly. DO NOT
leave bolt threads uncovered TIGHTEN all hex nuts securely

DO NOT attach items to the playground equipment that are not
specifically designed for use with this equipment, such as, but not limited
to , jump ropes, clotheslines,pet leashes, cables and chains as they may
cause strangulation hazards

WARNING: lawn swings are designed for children over three (3) years of

age

At the end of each play seesion, remove all plastic parts and take indoors.
DO NOT allow the use of plastic items when the temperature drops below
odegrees

Dispose of all packaging properly after the unit has been assembled
Please retain the assembly manual for future reference and review each
season

This product is intended for use by children from three (3) to eight (8)
years of age

This equipment is for family domestic use and is intended for outdoor use

only.

Bl BOLT M8*45 13 7 ' =

Al |

: IIJ'

B BOLT M6*30 2 -

A2 \ 1
B3 CD PLASTIC CAP M8 17

v / 4
B4 WASHER_ E6 4

M| g —— .
B @ ARC WASHER F8 2

A6

B WASHER F8 p . \ ’

B7 NYLON NUT M8 17

BS Q:) PLASTIC CAP M6 9 AT » 6

i : P 2 4 2
&,—-‘—

J2 @ ARC WASHER F8 4 J5 9

J3 NYLON NUT M8 4 J6 1

A7 A{ B5_

STEP3

STEP2

STEP4




